
PRACTICE SET -1



In the following question, a sentence is given with four words marked 

as (A), (B), (C), and (D). These words may or may not be placed in the 

correct order. Four options with different arrangements of these words 

have been provided. Mark the option with the correct arrangement as 

the answer. If no rearrangement is required, mark option (5) as your 

answer.
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Albert Einstein’s intelligence(A) left behind a legacy(B) of 

knowledge that understand(C) physics and how we 

changed(D) gravity.

1. C-D

2. D-A

3. A-B

4. B-C

5. No change required
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Modern(A) brides have turned to artificial(B) flowers for 

their bouquets because they are much cheaper(C) and 

always available(D).

1. A-B

2. B-C

3. C-D

4. D-A

5. No change required
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Rakhi tried to denied(A) her financial problems by filing 

for bankruptcy(B), but that effort failed(C) when her 

petition was tackle(D).

1. A-B

2. A-D

3. B-C

4. B-D

5. No change required
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The patient knew(A) that the doctor trusted(B) what he was 

doing and agreed to undergo(C) the risky(D) surgery.

1. D-A

2. C-B

3. A-B

4. B-D

5. No change required
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When the political candidate exposed(A) his rival’s 

resentment(B) spending habits, he hoped to provoke(C) 

feelings of lavish(D) among the voters.

1. B-D

2. C-D

3. A-D

4. A-B

5. No change required
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Read the sentence to find out whether there is any error in it or not. 

The error, if any, will be in one part of the sentence. The number of 

that part is the answer. If there is no error, the answer is (5). Ignore 

errors of punctuation, if any.
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I think we should hire a porter (A) Your suitcase is too 

heavy (B) None of my arms is strong enough to (C) lift 

that and travel all the way back home.(D) No error.

1. A

2. B

3. C

4. D

5. E
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When my parents and my sister(A) reached home from 

school, (B) my guide and counselor (C) were sitting with 

me.(D) No error.

1. A

2. B

3. C

4. D

5. E
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Though she appears(A)/ taller she is just (B)/ an inch 

taller than him (C)/ even with her heels on.(D) No error.

1. A

2. B

3. C

4. D

5. E
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That night she made her way through the wood, (A)/ 

crouching in the underbrush whenever she (B)/ heard the 

sound of horses’ hooves, staying (C)/ there until the horse 

riders passed.(D) No error.

1. A

2. B

3. C

4. D

5. E
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Select the phrase from the options below that should replace the 

underlined phrase in the sentence to make it grammatically and 

contextually correct. If the sentence is already correct 'No correction 

required' as your answer.
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A master should never impose his servants to much 

work. 

1. his servants with too much work

2. to much work with his servants

3. too much work on his servants

4. to much work for his servants

5. no correction required
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Our dog has not eaten food from last night, leaving 

us concerned about his appetite and well-being.

1. for last night

2. to the previous night

3. since last night

4. since the previously night

5. No correction required
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If I will get an opportunity, I shall make it without 

any fault.

1. get

2. got

3. shall get 

4. had got

5. No correction required

SUPER 15 BATCH – DAY 8



THANK 
YOU
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